
Notes on teaching
Part 1: Issues in macroeconomics
Overview

Part 1 presents a basic overview of macroeconomics and important macroeconomic measures. Chapter 1 introduces the key macroeconomic issues and concepts, including measures of macroeconomic performance, GDP and inflation (including a discussion of the Fisher equation). Chapter 2 discusses savings and wealth and introduces the concept of national saving. Chapter 3 focuses on the labour market.

Notes and suggestions

Since this part of the book introduces macroeconomics and presents the foundation for all of the remaining chapters, it is important that students gain a solid understanding of the basic macroeconomic measures. Students will need to know the definition of economic growth, unemployment, inflation, saving (including national saving) and wealth (as well as how each is measured) as they progress through the short-run and long-run macroeconomic models. 
It is easy for students to get caught up in the minutiae of the calculations of gross domestic product, unemployment and inflation and lose sight of the bigger picture. You can help them by emphasising WHAT we want to measure (growth, people who want jobs but cannot find them and inflation) and WHY (to know how the economy is doing so we can work to improve it), as they learn the details of calculating the various measures.

It can be just as important to spend time discussing what is NOT included in these measures as what IS included. Discussions of the limitations of our measures of economic activity, or the problems and biases in measuring unemployment and inflation, can be very useful for helping students understand the goals of macroeconomics and the difficulties of conducting macroeconomic policy. 
Chapter 1
Measuring macroeconomic performance: output and prices
Overview

This chapter is the first macroeconomics chapter following the introductory material online. It provides the definition of macroeconomics (that macroeconomics is the study of the performance of national economies and the policies governments use to try to improve that performance) and introduces the subject matter and tools related to the study of macroeconomics. The chapter begins with a brief discussion of some of the performance indicators used by macroeconomists to judge the ‘health’ of the economy. It then proceeds to introduce the key issues associated with gross domestic product (GDP) and inflation. 

Important concepts covered


Macroeconomic performance indicators

Measuring GDP using the production method

Measuring GDP using the expenditure method 


Measuring GDP using the income method

The national income accounting identity


Real and nominal GDP


Can GDP be used to measure welfare?


The consumer price index (CPI)

The meaning of inflation

Adjusting for inflation

How are inflation and interest rates related?


Nominal and real interest rates


Deflation

Biases in measuring inflation

Learning objectives

After completing this chapter, you want your students to be able to answer the following questions:

1.1
What does gross domestic product (GDP) mean?


1.2
What are the three ways of measuring a country’s GDP?


a)
Why are these three ways equivalent?


b)
What is the circular flow of income?


1.3
What is the distinction between nominal and real GDP?


1.4
What does the consumer price index (CPI) mean?


1.5
How is the CPI measured?


1.6
What is inflation and how is it measured?


1.7
What are the economic costs associated with inflation?


1.8
What is the relationship between rates of interest and the rate of inflation?


1.9
What is deflation and why is it regarded as a problem?

Teaching tips/Student stumbling blocks


Some students may have learned about ‘GNP’ in a high school or other economics course; you may want to address the difference between GDP and GNP. 


GDP is a measure of the quantity of goods and services produced by an economy. The text points out that any good or service that is produced will also be purchased and used by some economic agent. It is likely that students will immediately ask about things that get produced but not sold. Introduce the concept of inventory and then come back to it when you discuss investment.


Students will be tripped up by the term ‘investment’ and will wonder why it is not purchases of stocks and bonds. Point out that a stock purchase does not usually correspond to the creation of new physical capital and so is not investment in the sense that the term is used in this chapter.


Two things to note about government spending; the first is that it does not include transfer payments. You may want to clarify this to students by pointing out that those monies do show up in consumption. Also, in the definition of transfer payments, be sure to point out that no current goods or services are received by the government in exchange for these payments.


Students often get confused about the difference between absolute and relative price changes. It is important to emphasise that it is relative price changes that influence the movement of resources across industries, thus influencing the composition of domestic production.
Internet resources

A very detailed guide to Australia’s National Accounts can be found at the Australian Bureau of Statistics’ website www.abs.gov.au/Ausstats/abs@.nsf/0/3F880EE1D366198CCA2569A400061616?Open.
Another useful resource is the National Accounts Glossary, which can be found at unstats.un.org/unsd/snaama/glossary.asp.
The Australian Bureau of Statistics publishes a very detailed guide to the consumer price index at www.abs.gov.au/AUSSTATS/abs@.nsf/PrimaryMainFeatures/6461.0?OpenDocument.
There is much more information here than you need for the subject, but if students have questions about the construction or interpretation of CPI figures, then this is the place to go. 
For an economist’s perspective on issues involving the measurement of inflation, students can look at: www.rba.gov.au/publications/confs/2004/hill.pdf.

Parts of this article are a bit tough, but if students try to read around these, they will get a good picture of the complexities involved in trying to derive a measure of average prices.

For an interesting discussion of deflation in Japan see www.economist.com/node/14966237.
Discussion questions

1.
People sometimes use the following saying to define recessions and depressions: ‘A recession is when your neighbours lose their jobs; a depression is when you lose your job’. What are some of the observations that make people call an economic downturn a depression rather than a recession? (Real or perceived changes in the economy that impact people’s lives.)

2.
If a dollar is always worth a dollar, why do people say the dollar has ‘lost its value’? (With inflation, prices go up and the same dollar can no longer buy the same amount of goods as before.)

3.
What should policy makers do in a situation in which achieving a good outcome in one of the indicators of macroeconomic success (for example, a low rate of inflation) has an undesirable impact on one or more of the other indicators of macroeconomic success?
4.
Why should lenders be more concerned about the real interest rate they charge than the nominal interest rate? (Although the nominal interest rate determines the dollar amount of interest paid, the real interest rate measures the purchasing power of this dollar amount.)
5.
What is the difference between how an economist defines investment and how the average person on the street is likely to define investment? (An economist defines investment as spending on new capital equipment that contributes to aggregate expenditure, whereas a person on the street may well define investment as buying shares or placing their savings in a term deposit.)
6.
 Why are relative price changes important? (Relative prices changes send signals that productive resources need to move to other markets, that is, that goods/services experiencing more rapid price increases are in shortage relative to demand.)

7.
 What is the difference between nominal and real values in economics? (Nominal values have the effects of inflation built in, whereas real values have the effects of inflation removed.)
Answers to problems
1.
The market value of production is (420 fish × 1 clamshell each) + (12 boars × 10 clamshells each) + (200 bunches of bananas × 5 clamshells each) = 420 + 120 + 1000 = 1540. Al’s digging bait represents an intermediate service, which is not counted in GDP, nor is the purchase of an existing asset (mature banana trees) counted in GDP. So the GDP of the island is 1540 clamshells.
2.
Value added by each firm is as follows:
Intelligence Inc.: 100 chips × $300 = $30 000
Macrosoft: 100 software packages × $50 = $5000
Bell: 100 computers × $800 minus purchased inputs ($30 000 in chips and $5000 in software) = $80 000 – $35 000 = $45 000
PC Charlie’s: 100 computers × $1000 minus purchased inputs ($80 000 in computers at wholesale) = $100 000 – $80 000 = $20 000
Sum of value added: $30 000 + $5000 + $45 000 + $20 000 = $100 000

This is the same result we get by summing up the market values of final goods and services (the 100 computers sold by PC Charlie’s at $1000 each equal $100 000).
3.
We find the four components of expenditure:
Consumption expenditures are 600. These already include household purchases of durable goods, so those would not be counted again.
Investment expenditures equal residential construction (100) plus business fixed investment (100) plus inventory investment (change in stocks over the year, or 25), for a total of 225. Sales of existing homes and apartments are not counted in investment or GDP.
Government purchases are 200. Government payments to retirees are transfers and are not counted.
Net exports are exports (75) minus imports (50), or 25.
GDP is the sum of the four components: 600 + 225 + 200 + 25 = 1050.
4.
It would not be correct to decide against the policy because it is projected to reduce real GDP. Rather, the costs and benefits of the policy should be compared. The reduction (if any) in real GDP is relevant when measuring the cost of the proposed policy, as it captures the loss in output. However, the benefits of the policy, in terms of cleaner air, are not captured in GDP and must be assessed in some other way (for example, by trying to value the health benefits of cleaner air). Economists would recommend implementing the policy only if its benefits exceed its costs.
5.

a.
Consumption expenditure as it is the largest component of aggregate expenditure in the US.
b.
The output growth of Australia's trading partners affects their demand for Australian exports, and hence overall aggregate expenditure in the Australian economy.
c.
China's IP fell during the GFC which reduces the demand for Australian exports, particularly mineral and energy commodities.
d.
Unfortunately this data is no longer available on the RBA website. However, the US Bureau of Labor Statistics (www.bls.gov/lpc) provides data that can be used in answering this question. The high unemployment resulting from the GFC could have caused the ‘productivity surge’ by resulting in increased efficiency—fewer employees to do the same amount of work may result in process changes.
6.

a.
The cost of the basket in the base year is $200 + $600 + $100 + $50, or $950. In the subsequent year the same basket of goods costs $220 + $700 + $120 + $40, or $1080. The CPI in the subsequent year equals the cost of the basket in that year relative to the base year: $1080/$950 = 1.137. Since the CPI in the base year is 1.000, the rate of inflation (equal to the percentage increase in the CPI) between the base year and the subsequent year is 13.7%.
b.
The family’s nominal income rose by 5%, less than the increase in the cost of living. So the family is worse off, in terms of real purchasing power.
7.
The rate of inflation between 2012 and 2014 (the percentage increase in the price level) is (189 – 179)/179 = 5.6% (approximately). To keep tax brackets at the same points in terms of real income, the nominal income categories should each be increased by 5.6%. The tax schedule for the year 2014 is:
	Family income
	Tax rate

	<$21 120
	10%

	$21 121–$31 680
	12%

	$31 681–$52 800
	15%

	$52 801–$84 480
	20%

	>$84 481
	25%


If you found the inflation rate to more decimal points, your answers would be slightly different from those above.

8.

a.
The cost of the basket in 2012 is $60 + $60 + $80, or $200. In 2013, the cost is $150 + $70 + $80, or $300. The official ‘cost of eating’ has increased by ($300 – $200)/$200 or 50.0% between 2012 and 2013.


b.
Since two chickens now cost more than one ham, people will switch from 30 chickens to 15 hams, for a total ham consumption of 25. The cost of the food basket is now 25 hams at $7.00 plus 10 steaks at $8.00, or $255. The true increase in the cost of eating is ($255 – $200)/$200, or 27.5%, much lower than the official estimate of 50.0%. The overestimate of inflation in the cost of eating reflects substitution bias.
9.
First, calculate inflation for each year. For 2011, inflation is the percentage increase in the CPI over that year, equal to (108 – 100)/100 = 8%. For 2012, inflation is (115 – 108)/108 = 6.5%. For 20013, inflation is (125 – 115)/115 = 8.7%. Real return equals the nominal interest rate minus the inflation rate. Subtracting the inflation rate for each year from the nominal interest rate (5% in each year) gives real returns of 3% in 2011, 1.5% in 2012, and –2.7% in 2013.
Now consider the three-year period as a whole. At the end of one year, Albert’s $1000 is worth $1050. Assuming that interest is re-invested, at the end of two years he has $1050 × 1.05 = $1102.50, and at the end of three years he has $1102.50 × 1.05 = $1157.62, for a total gain of 15.7%. As the price level has risen by 25% over the three years, Albert’s total real return over the three years is 15.7% – 25% = -9.3%.
10.

a.
Inflation is expected to be (110 – 100)/100 = 10% in the first year and (121 – 110)/110 = 10% in the second year. If Frank charges Sarah a 12% nominal interest rate, he will earn a real return of 2% per year (12% nominal interest rate – 10% inflation rate).
b.
To ensure a 2% annual return on the loan, Frank and Sarah should agree that Sarah will pay an interest rate in each year equal to 2% plus whatever the inflation rate turns out to be. For example, if inflation turns out to be 8% during the first year and 10% during the second year, Sarah should pay 10% nominal interest in the first year and 12% in the second year.
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